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More Examples

Example 2.4.8

1 3 -3 0 5 =3
let A=| 0 1 2 |, C=] 0 1 2
-1 2 0 -1 2 0

Find an elementary matrix so that EA = C.

Solution. If we add third row of A to its first row, we get C.
Let E be the matrix that is obtained from the identity matrix
5 by adding its third row to the first. Or

1 01
E=]010)|, so EA=C.

001
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More Examples

Example 2.4.9

031
Compute the inverse of A by elementary operations.

100
Llet A=|1010

Solution. /5 is obtained from A by adding -3 times second
row of A to third row of A. Accordingly write

1 00
E=]0 1 0 So, EA=1k, Check AE =1
0 -31

So, Al =E.
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More Examples

123
Llet A=|12 5 6
257

Find a sequence of elementary matrices whose product is A.

Example 2.4.10

Solution. Let E; be the matrix obtained by subtracting the
second row of /3 from its third row and A; is obtained by the
same operation on A. So,

1 0 0 123
EE=]0 1 0], AA=|25 6], so EEA=A.
001

0 -11
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More Examples

Dhamone

E, be the the matrix obtained by subtracting 2 times the first
row of /3 from its second row and A; is obtained by the same
operation on A;. So,

1 00 123
E=|-210].A=|0120], so BA =A.
0 01 001
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E; be the the matrix obtained by subtracting 2 times the
second row of /3 from its first row and Aj is obtained by the
same operation on A,. So,

1 -2 0 103
EE=|0 1 0] . A3=|010], so EA =A;s.
0 0 1 001
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E, be the the matrix obtained by subtracting 3 times the third
row of /3 from its first row and A, is obtained by the same
operation on Asz. So,

10 -3 100
E,=101 0 |Ay=[0 10| =4k soEA3=A,= L.
00 1 001

Therefore

E4E3E2E1A = Ig and A_l = EquEgEq,
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